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General Instructions for Students:        �������������	
  

1) Read carefully and attempt all questions.       ��������������	
����
������  �� 

2) A question can consist of one or more parts.   ���������������������� ����� ��� ���� ��� ����  �� 
3) Use blank space given below each question to write the answer. No additional page will be 

given for writing.                   !�"�#�$�%&�'�(��)�*� ���+ ,-�	
� .��/�*�0���� ����1��2�345#�6�*�7��8�9:�  �� 
4) Use black/blue ink for writing. Use of lead pencil is never allowed. %;�6�*�7<�= ?@�����	
� .��;�A��B� .��*�C+ ,-�D����1���:� � �  

 

 

Q.No.33.(a) If A={4,8,10,11,12},B={2,4,6,8,9,10} and C={2,4,6,7,8,10} then show that  
A∩(B∩C)=(A∩B) ∩C 

������ � ��� 	
�� C={2,4,6,7,8,10}�
� B={2,4,6,8,9,10}, A={4,8,10,11,12}�� 
A∩(B∩C)=(A∩B) ∩C 

 

 

 

 

 

 

(5 ) 

(b) If U={1,2,3,…,9}, A={1,2,3,4,5,6} and B={2,4,6,8,9}then show that  (A∪B)c= Ac ∩ Bc 

(A∪B)c= Ac ∩ Bc
 ��� � ��� 	
������� B={2,4,6,8,9}��
�A={1,2,3,4,5,6}�U={1,2,3,…,9}�� 

  
 

 

 

 

 

 

 

(5) 

Total Marks: 52 Part-B (Open Ended Questions) Total Time: 1 hour 45 minutes 
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Q.No.34. (a) The Area of a rectangular park is 1600sq. meter. Its length is four times as 
long as its width. Find its perimeter.       

������ � ����	���
��������
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���������� �������������� ������������������
���� ��������  ��		  ����� !"#$� �%�&��'(�)��
  
 

 

 

 

 

 

 

 

 

 

 
 
 

(5) 
 

(b) Evaluate the following and express the answer into decimal number system.  ��*�+�,-�.�/���0�1��+�2�3��4��056�7�8��9�  
( ) ( ) ( ) ( ){ }+ + −

8 8 5 2
123 145 2243 1010  

 

 

 
 

 

 

 

 

 

(5 ) 

Q.No. 35. (a) Find two solutions for the equation 4x+2y=10 

   ���*�45�:���� 4x+2y=10 ;�4<�  
 
 
 
 
 
 
 
 
 
 
 
 
 

(4) 
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(b) Aleena bought 1kg apples and 4kg grapes for Rs.900. Sara bought 2kg apples and 1kg 
grapes for Rs. 400. Calculate the price of apples and grapes per kilogram. �=��>���"?@���4�� A �B���C�D
���E����C�D�		 ��=�F�G��HI �J� �K�8�L4�����4�� A �B���C�D����E����C�D
		  ����M4�E���4�� A �B��HI �J� �K�8�L4�

�N����O��C�D ������  
 
 
 
 
 
 
 
 
 
 
 
 

(8) 

Q. No. 36. (a) Construct a regular hexagon ABCDEF where m������=3.2cm.  

m������=3.2cm P�QR 
����� � �%�S�T�  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

( 5) 

(b) Prove that, if the sum of measures of two adjacent angles is equal to two right angles, 
the external arms of the angles are in a straight line. �U�VW� ! AX� Y(�:�Z��[�M\�]4� �̂_ �̀45�ab�
�Mc4� �̂d�45�C��e�M\�8�f�gh� �%��4 �̂A(�i4j  
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Q.No: 37. (a) Evaluate                       sin45o cos30o + cos 45o sin 60o                          ����k 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(5) 

(b) Construct a histogram of the following data.                                     �l�]5�m�QR�n�o

5�p  
Class boundaries  �q54r�st  6-12 12-18 18-24 24-30 

Frequency 5u 10 15 20 25 
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